[8]

Some American wine drinkers are philosophers.
All philosophers are mad people or wise people.
Or /92931
What is the necessity to transform symbolic form of

everyday language in logic?

+21=5

Explain the operation of inclusion. 2 >

L
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Ex/CBCS/PHIL/UG/CORE/4.1/2023
BACHELOR OF ARTS EXAMINATION, 2023
(2nd Year, 4th Semester)
PHILOSOPHY
[ Logic (Western) II |

Time : Two Hours Full Marks : 30

Answer one question from each group.

Answer either in English or in Bengali.

All questions carry equal marks.
Group - A

1. a) IfA, B and C are true statements and X and Y are

false statements, determine the truth-value of the
following: 3

T A, B 43R C 197 77, ©IF X @R Y frel o 23,
iz fEfeie avaiba o, Faiwe S ¢ ©

{[A ) (B D C)] ) [(A.B) D C]} D [(X D B) D (C ) Y)]

b) Symbolize each of the following proposition using

the suggested notation: 4
2ve AIF© P2 I TFERe waeFa aroshee
AIOF H9l 1S ¢ 8

1)  Ifsome doctors are well-trained, then if all well-
trained doctors are surgeons, then they are
surgeons. (Dx: x is a doctor, Wx: x is well-trained,

Sx: x is a surgeon)
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i1) They have the right to protest who have an
intention to improve. (Rx: x has the right to

protest, Ix: x has the intention to improve)

Prove the invalidity of the following by the method

of assigning truth-values to the simple statement

involved: 3
e Awaefem Wey-ye Mmstan cwfon R
frafafie Ifea witaret =i st ¢ ©

If we buy a lot, then we must have an apartment. If
we buy a lot, then if we do not have an apartment, we
will have to rent. If we have an apartment, then if we
still rent, we will require lots of money. Therefore, if
we buy a lot, we will require lots of money. (L, A, R,
M)

Or /93t

Construct a formal proof of validity for the following
argument: 3

fafee Ifea @fes aFRMe @ae! = FE! ¢
9O

Either the teacher did not notice the error committed
or else he loves the student. He noticed the error
committed. Therefore, he must love the students.
(N, L)

Prove the validity of the following argument using

the suggested notations: 4

[7]
Or /544

4. Which of the following statements are true for all sets A,

B and C? 2%+2%=5
faafefie amefe™ A, B a2 C 756 (T Fa2 79 ?
i) AcB&BcC—--(CcA)

i) AcB&BeC—-AgC
Group - B
(For visually differently-abled students only)

. 1)  What do you mean by a set? Explain with an example.

i1) Explain with an example the principle of

extensionality.

i11) Isrelation of inclusion same as membership? Explain.
3+4+3=10

Or /544

. 1) Explain the domain of individuals.

i1) What do you mean by two assumptions are mutually

consistent?

ii1l) Who is the founder of set theory?

. Translate the following statements into symbolic form:

e AR sigcaios mes #ifide 71
1)  Some Indians are either Philosopher or Historian.
i1)  All coffee drinkers drink either coffee or tea.

ii1) A philosopher drink neither tea nor coffee
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Group - B

Test the validity of the following arguments by using the
Method of Venn Diagram. 5+5=10

CSabrad AR e Jfealem @rel fFmd 31

1)  All liars are prejudiced. Some witnesses are not liars.
. Some witnesses are not prejudiced.
ii) Ac~(BUC)
Bc~(AUC)
~B=A
Or /=993t

Are the following statements mutually consistent? Discuss.

fSxfafie amelem s ifas e @it &2 Sitena F1

a) BNC=A 5+5=10
(ANC)~B=A
(ANB)~C#=A

(ANB)U(ANC)U(BNC) = A

b) C=A
ANB#A
(ANB)NC=A
(ANB)N(ANC)=

3. Explain with an example the principle of extensionality.

5

[3]

AME FACFO IR IR RIS ST (el o
AT 8

Hotels are both expensive and depressing. Some hotels
are shabby. Therefore, some expensive things are
shabby. (Hx: x is a hotel, Ex: x is expensive, Dx: x is

depressing, Sx: x is shabby.)

c) Use the shorter truth-table technique to determine the
validity or invalidity of the following argument: 3

SRR TG AR AFS AT A FEe e @qus!
3l wage TG 9 ¢ ©

(RvS)oT
T:(R-S)
~(R-S)>(RVS)

3. Construct a formal proof of validity or prove the invalidity

of the following argument using the suggested notation:

5
Ag TP 2 I faferiie Ifea semere (gl Al
SLALO! A FAT 2 ¢

No employer who is either inconsiderate or tyrannical can
be successful. Some employers are inconsiderate. There
are tyrannical employers. Therefore no employer can be
successful. (Ex: x is an employer, Ix: x is inconsiderate,

Tx: x is tyrannical, Sx: x is successful)
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[4]
Or / 544}

4. Symbolize each of the following propositions using the

suggested notation: 1+2+2=5

one AP AR I FElie el e @l

s 2 SHIt=¢C

1)  Snake bites are not always fatal. (Sx: x is a snake
bite, Fx: x is fatal.)

i1) Any book is both interesting and informative if it is
well-written and well-documented. (Bx: x is a book,
Ix: x is interesting, Fx: x is informative, Wx: x is well-

written, Dx: x is well-documented.)

i11) If'some students are present, then ifall students present
are boys, then they are boys. (Sx: x is a student, Px: x

is present, Bx: x is a boy)
Group - A

(For visually differently-abled students only)

. a) What is a propositional function? What are the
different ways for getting a proposition from a
propositional function? Explain with examples. 6

b) Is there any distinction between the two sentences —
(1) Children are simple-minded and (ii) Children are
present? Discuss with arguments. 4

) propositonal function IS Ft @RNTA W2 G0
propositional function (AT 6 513 T F F e
afEl =ity ©f Twigad FReiel i I | Y

[5]

q)  “PreR TRE-TNET ST Ml S 2 A qiod
T (I 2N 9tz [F2 I 72 ACEna F4|1 8

Or / 52<}

. Of'the different relations admitted in the traditional square

of opposition, why is the contradiction relation only
acceptable in the quantification theory? Discuss with

examples. 10

foaws [Tdld SerEt [fen RaifieR S=itFa St &=
e Ralfeed ™32 quantification theory-(®
T AR (T 2 GRIT TR S T | so

. How would you prove the validity of an argument by the

shorter truth table method? Discuss. 5

Shorter truth table method-43 AR @ Jfea (4!
el 26 T T 2 A TR | G

Or / 52<}

. When is a conditional statement false? If the antecedent

of an implication is known to be true, can we determine
the truth value of the implication? Discuss with examples.
5

G930 2iFlEs qoa T4 ey 202 I 9 sl g
5 Zolf6 ITe7 ACE T AT SIFA @ 2AFHF IR T
fAdige 1 B3 2 SCED I | @
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